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KAMEHRIMBIT, FFTHALERT -2 DEERRETY
S®R. HREINELDIBENDHYEITDT, HoMLHITHEILEZSL,

1. HEEHEE
H25.1~10 | H24.1~10 H25.4~10 H24.4~10 H25F H25
98 108 ||H2s%5ReD) | GIERED) |[HoFEERED |GIEERL)|| H1m$EH | Fom$s
BEr-ERTE 30,566 27,038 | 279,208 | 292,837 188,760 | 194,298 78,367 83,355
(A3.2) (A23) (A47) (1.2) (A29) (0.2) (A3.0) (A28)
gazr 29,972 26,397 | 272,787 286,048 184,221 189,513 76,384 81,440
i (A3  (A22) (A4.6) (1.1) (A2.8) (0.1) (A3.0) (A2.8)
- 594 641 6,421 6,789 4,539 4,785 1,983 1,915
a (AB6.3)] (A6.0) (A5.4) (3.0) (A5.1) (2.2) (A5.1) (A4.9)
= [ 2,768 2,674 25,700 26,712 18,257 18,904 7,564 8,019
(A0.0) (A0.4) (A3.8) (5.3) (A3.4) (7.1) (A3.8) (A4.1)
] = 9,350 10,908| 98,408 98,639 70,587 69,926 30,422 29,257
(1.8) (2.1) (A0.2) (10.9) (0.9) (12.0) (0.9) (0.6)
B4 8,427 9,552 86,751 89,348|[ 62,533 63,124 27,039 25,942
(1.6) (1.5) (A29) (13.0) (A0.9) (14.0) (A1.9) (A0.8)
= Hi 42,684 40,620" 403,316 418,188[ 277,604 283,128/ 116,353 | 120,631
(A1.9) (A1.0) (A3.6) (3.6) (A20) (3.3) (A2.1) (A2.1)
mE X 5 14,177 15,480" 144,819 152,957| 104,387 107,213 45,194 43,713
(A0.1) (A8.3) (A5.3) (16.3) (A2.6) (16.7) (A24) (A0.7)
2. EEHEEH#
H25.1~10 H24.1~10 H25.4~10 H24.4~10 H25%E & H25%E &
9A 108 ||HsERED | GiERS) ||HosErReh |FIEERS)|| S1mEs | Homs
p | mmEE 3,831 3,679 36,161 35,309 24,111 24,203 10,006 10,426
c (3.0) (A1.0) (2.4) (13.0) (A0.4) (16.1) (A0.4) (A0.2)
S [ 4,695 4,686 44,761 44,333 32,047 31,508 14,334 13,027
(2.5) (1.5) (1.0) (4.2) 1.7) (3.1) (2.1) (1.4)
* | xEEE 156 180 1,552 1,795 1,099 1,266 455 464
N (A21.6) (21.6)  (A135) (38.2)  (A13.2) (38.8) (A203)| (A152)
vl te e E 923 1,356 11,657 9,291 8,054 6,802 3,383 3,315
o [fEERET 3.7 (6.9) (25.5) (A5.8) (18.4) (A3.1) (30.9) (12.4)
3. BHBEERERRUVEAFERMEHEEE KR4
H25.1~10 H24.1~10 H25.4~10 H24.4~10 H25%E & H25%E &
9A 108 ||HsERED | GiERS) ||HosErReh |GIEERS)|| S1mEs | Homs
HEFHEEERS 20,677 19,134 |[ 199,530 | 205,079 135748 | 135,100 56,555 60,059
(3.3) (A1.1) (A27) (A22) (0.5) (A3.1) (2.4) (A0.8)
- 20,010 19,348 205,079 | 209,793| 135,100 | 139,485 55,227 60,525
” (A18.6) (1.8) (A22) (A15) (A3.1) (0.5) (A0.7) (AB.7)
EEEES 33 29 372 428 257 314 127 101
BT EEE (A34.0) (A383) (A13.1) 4.1 (A18.2) (7.2) (A6.6)] (A229)
BT -BMERVEETEREIREFREH
H25.1~10 H24.1~10 H25.4~10 H24.4~10 H25%E & H25%E &
9A 108 ||HsERED | GiER) ||HosErRen |FIEERS)|| F1mEs | Homysy
665 706 8,584 11,107 5,708 7,247 2,829 2,173
BE-BREW | a106)| (a436) (a227)| (a249)| (a212)| (a22)|| (a134)] (a203)
(REFH) 322 361 4,951 6,764 3,327 4,196 1,745 1,221
(A28.1)] (A529)f (A26.8)] (A325) (A20.7) (A348)| (A11.9) (A15.7)
A R 327 350 4,986 6,581 3,291 4115 1,756 1,185
TE1EaR (A289) (A48.1) (A242)| (A338)| (A200)] (A416) (A123)] (A175)




4. BHFEREH

H25.1~10 | H24.1~10 H25.4~10 H24.4~10 H25F H25F

98 108 ||H2s%#ReD) | GIERED) |[HoFEERED |GIEERL)|| S1m$EH | Fom$s

= 2,032 2,215 20,215 20,555 14,649 14,961 6,222 6,212
(2.1) (A7.5) (A1.7) (AB.7) (A2.1) (A41) (0.3) (A2.4)

- 29 17 206 179 153 140 61 75
LSS * (81.3)| (A26.1) (15.1)] (A 18.6) 9.3)] (A181) (A15.3) (66.7)
T 19 39 186 137 139 96 48 52
i (72.1)]  (129.4) (35.8) (15.1) (44.8) (10.3) (14.3) (40.5)
B 1 1 16 28 12 22 9 2
(A50.0)] (A75.0) (A429) (A6.7)| (A45.5) (A4.3) (50.0) (A83.3)

A 2,081 2,272 20,623 20,899 14,953 15,219 6,340 6,341
= (3.1)] (A6.8) (A1.3) (AB6.7) (A1.7) (A4.1) (0.3) (A1.8)

H25.1~10 | H24.1~10 H25.4~10 H24.4~10 H25 H25

98 108 ||H2s%#RED) | GIERED) |[HoFEERED |GIEERL)|| S1m$EH | Fom$s

= 0 0 0 0 0 0 0 0
= (0.0) (0.0) (0.0) (0.0) (0.0) 0.0ff #DIvV/0!|  #DIV/O!
- 0 0 4 3 4 3 3 1
" * (A 100.0) (0.0)" (33.3) (A625) (33.3)] (A40.0) (50.0) (0.0)
0 0 0 1 0 1 0 0
a5 (0.0) (0.0)" (A100.0) (0.0)]| (A100.0) (0.0)| (A100.0)] #DIV/0!
0 0 0 0 0 0 0 0
%= (0.0) (0.0) (0.0)] (A100.0) (0.0) (0.0ff #DIvV/0!|  #DIV/O!
N 0 0 4 4 4 4 3 1
= (A 100.0) (0.0)" (0.0) (A60.0) (0.0)) (A33.3) (0.0) (0.0)

H25.1~10 H24.1~10 H25.4~10 H24.4~10 H25%E & H25%E &

9A 108 (H25E 85 | FIERY) ||HBEERED |(ATEERSD)|| H1mEHE | H2mH

== TR 20 36 287 340 221 237 112 73
(A444)| (A1 (A156) (A9.3) (A6.8)] (A15.4) (30.2)] (A34.8)

= 0 2 18 11 8 6 3 3
(0.0)]  (100.0) (63.6) (A8.3) (33.3)]  (A45.5) (0.0) (50.0)

0 2 11 11 9 9 7 0
E (A100.0) (A50.0) 0.0) (A21.4) (0.0)f (A25.0) (250.0)[ (A100.0)
~ 20 40 316 362 238 252 122 76
= (A459)| (A9 (A12.7) (A9.7) (A5.6)] (A16.8) (34.1)]  (A35.0)

H25.1~10 | H24.1~10 || H254~10 | H24.4~10 H255 H255

98 108 ||H2s#RED) | GIERED) |[HoFEERED |GIEERL)|| S1m$EH | Fom$s

91 97 856 774 679 578 297 285
(23.0) (34.7) (10.6)]  (A27.4) (17.5)]  (A26.6) (8.8) (22.3)

9 6 78 95 51 60 20 25
(A30.8)] (A25.0) (A17.9) (3.3) (A15.0)] (A15.5) (A9.1)] (A16.7)

] 81 115 959 866 696 609 300 281
(11.0) (36.9) (10.7)[  (A13.1) (14.3) (A9.9) (5.6) (16.6)

1 0 6 3 5 1 4 1
= (0.0) (0.0) (100.0)]  (A25.0) (400.0) 0.0f #DIv/o! (0.0)
38 51 409 349 312 265 132 129
(22.6) (27.5) (17.2)]  (A13.6) (17.7) (A7.0) (23.4) (9.3)

220 269 2,308 2,087 1,743 1,513 753 721
(15.2) (31.9) (10.6)] (A18.6) (15.2)]  (A16.9) (9.8) (15.7)




